13000 GeVpp tt

';' _| | T I T I T I T I T | T I T I T I T I T |— %
¢ I : . (&)
O 41— P (ATLAS dileptonic ttbar) 1z
= 10" E T =
— — =
> ~ mhy
S+~ L mix
Q — p— -
o =
° 0 |-
o™
8 10_2 — = ’U‘klﬂ\ ] qq_)a
b E //. \\l EDE:
: : // \\q :
= N ]

e

|_\
o
w
T
Lol
mcplots.cern.ch [arXiv:1306.3436]

B ATLAS ‘\

—a— Pythia 8.308 default
Pythia 8.308 tune-1

1074 = Pythia 8.308 tune-2c¢ A —
- Pythia 8.308 tune-2m - -
—| | | | | | | | ' | | | | | | | |—
:l T T T T | T T T T | T T T T |:
2 & —2
” — E
< - —]
l:l _ \\“ / _
< B \‘\ ]
g 1 e g8 % _ 1
= o _
m — p—
05 —0.5
| 1 1 1 1 " | " 1 1 " 1 1 " | " 1 " 1 " 1 " 1 " |
0 100 200 300

Dilepton p:m“ [GeV]



	Contents
	Page 1


